The law of moments  

AIM:

[image: image1.bmp]The aim of this experiment is to confirm the law of moments

YOU WILL NEED:

Two sets of slotted masses (0-1 kg in 100g)  String  A metre ruler with a hole drilled at its centre  A retort stand , boss and clamp  A pivot such as a nail (careful with the sharp end) A little plasticene

WHAT TO DO:

Set up the apparatus as shown in the diagram. Hang a load on one side of the pivot and balance it by hanging a second load the other side of the pivot and moving this load until your ruler is horizontal again.

	Load 1 (N)
	Distance of load 1 from pivot (cm) (d1)
	Load 2 (N)
	Distance of load 2 from pivot (cm) (d2)
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RESULTS:

Copy and complete a table of results like the one below. 

ANALYSIS AND CONCLUSION:

For each line of your table work out:

Load 1 x distance of load 1 from pivot and load 2 x distance of load 2 from pivot

Try and suggest a law relating the size and position of the loads using those two numbers.
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